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Unit 5:Vertex Form of a Quadratic Relation-Quiz #13

= x* o createy = a(x - h)* + k.

VF1 | I can identify the vertex and axis of symmetry and explain the
roles of a, h, and k as transformations applied to the base curve y 1

1. Match each equation with the correct graph. (4 marks)
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2. List the transformations in the order you would apply them to the graph of y = x% to

obtain the given quadratic relation. (7 marks)
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VF2

I can sketch the graph of y = a(x - h)? + k by applying
transformations to the graph y = x2.

/4

3. Sketch the graph of the quadratic relationy = -2(x - 3)? + 1 by applying the appropriate

transformations in the correct order. (4 marks)
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